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The university of Jordan  Calculus 11 First exam
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Q1: Find the area of the shaded region
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jn 0 - &O at
I
() w S xllwg do ™ S““‘V“*\ /v Usluws ‘ dVv =X
ts0" t b *\\B b
. 3 _l JV;J;\. — X
. : 1
3 lwx X Slx | \
| maelal® b < o4
‘.’h[:‘;-J!-SXJK l\_:u \w \ v
[ | (. O _
"vt.ﬁl-L.ﬁ[ R &
1 Rt ? ‘
o o3 +4

e‘) i

- l\-\\’)\:_ = 1k

POW@%@

N Ll () -

Scanned by CamScanner




xdx XJX ;
Q3 Flndfm = — ”S xe )
X'-4% +4 4 - m
&«
V X" -o &(O/\ﬂ
2 X - o 3€c® | K”z
X2 -25ec® = Sce © = X-=2

2
dx - 2 QccSFMQ&@

5 \2 sec® L&J?_;e{\@ﬁ*”@(;g: 4 S e 1 | @)
) 5 S Ecl®
g /@( bl/ = ‘}‘

s

| w ,|SCC®+PM{ i (O

7
— df "V\ X--Z + l ‘x_é N .
,, T m + Sec = -
/\4 - V) g

(Xﬂ = e
S X 3 'C)X ﬂy
L\<+1)-L S \X+'5

X w00 ) x (2 D (’s\xm\ A CNEES

. 15 Y lpax +4 - A +:—B—‘ : ' ¢
% X (\4—'\‘3 O Xt -t
o) = (\A +__B_,X (x- )t
' A

)
X‘E—,X-A a)QH)'l-; 0+0+C > c= 9

X—=0 = T = =-A ‘% A:‘$

Yz 9 1= A + 2B + - .
2 CRED + 28 -4 = -32-9 -1 +28=0 5 8-=%

g1
a3
:_j T’HL +:Ll D <ty +2 lu + a (x-1)

POWERGUNIT ' v et

Scanned by CamScanner




7OWERG@UNIT -

Scanned by CamScanner



	Button1: 


